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HBERE > 1 fr

5 K4 S1 S2 S3 S4 Sh S6 | fEs | @Et

23| A B4 |102.3]1101.8] 103.3] 104.4 ] 102.7] 104.7 | 619.2

18| &k ffn | 103.6| 104.4]103.0] 101.5| 90.2 | 102.4 | 605.1 | 1837.7

23| FHLEDY 103.4 | 102.5 | 102.8 | 102.6 | 100.6 | 101.5 | 613.4

EBRE > 2 fr

A K4 S1 S2 S3 S4 S5 S6 eI &t

22| M Y | 102.0]102.6] 100.3] 102.6] 1035 102.5| 613.5

17| g #5E 1 101.8]100.7] 99.3 | 99.6 | 101.0| 99.4 | 601.8 | 1824.5

28| Ak AIE 99.1 | 108.4 [ 103.7] 99.7 | 100.2 | 103.1 | 609.2

HAKE > 3 iz

A K4 S1 S2 S3 S4 S5 S6 e &t

24| AT #J5 1103.9(100.5] 102.8 | 102.7 ]| 103.4 | 102.1 | 615.4

19| BIR B | 102.0| 101.8| 100.5| 97.4 | 101.4 | 101.9 | 605.0 | 1824.4

24| FJREH 99.7 | 100.1 | 102.4| 99.9 [ 101.9 [ 100.0 | 604.0

BERREKXE > 4 A

P K4 S1 S2 S3 S4 S5 S6 FENS &8t

25| gk T 99.2 | 99.0 | 945 [ 97.2 | 98.8 | 100.0 | 588.7

22| HYP £ |[101.6]100.5] 102.2 [ 102.0] 100.4 | 100.7 | 607.4 | 1812.1

25| @il B8 [ 102.3]104.1] 100.7[102.4] 101.9] 104.6 | 616.0

FRRE > 5 fr

P K4 S1 S2 S3 S4 S5 S6 FENS &8t

27| AE ik 97.6 | 99.9 | 979 [ 98.9 | 99.8 | 102.2 | 596.3

23| R LM 98.8 | 100.3 | 100.2 | 97.3 | 98.5 | 99.0 | 594.1 | 1804.7

27| —EEH 101.1 { 103.1] 103.4] 103.3 [ 101.8 ] 101.6 [ 614.3

WHERE > 6 {ir

A K4 S1 S2 S3 S4 S5 S6 FENS &8t

19| il A 99.3 | 99.0 [ 101.7] 97.9 | 100.2 | 100.5 | 598.6

16| KBk F#7%F | 100.3 | 100.9| 104.0| 101.4 | 100.0 | 102.0 | 608.6 | 1790.4

19 Hh X 94.3 | 95.1 | 976 [100.2 | 98.7 | 97.3 | 583.2

WALFERRE > 7 i

A K4 S1 S2 S3 S4 S5 S6 FENS &8t

34| t&l e 97.4 1103.2] 99.9 | 99.2 | 99.9 [ 101.1 | 600.7

30| FRE WrE 99.8 1101.2[100.7]100.0| 99.3 [ 99.1 | 600.1 | 1774.8

34| BHTHA 93.7 | 949 | 932 | 979 | 98.1 [ 96.2 | 574.0

FERKE > 8 {r

Heh I K4 S1 S2 S3 S4 S5 S6 FENS &8t

17 AHaRA 97.6 | 96.6 [ 100.1 | 97.6 | 98.2 [ 96.2 | 586.3

13| 58 RS 94.3 | 979 | 989 | 985 | 98.5 | 98.1 | 586.2 | 1757.0

ow>§/\ow>§/\ow>%/\ow»%/\ow»%Aow»%/\ow»%/\ow»%/\

22| AR T 96.9 | 98.5 [ 98.1 | 974 | 96.1 | 97.5 | 584.5
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H30EE=F=ARW
ENEASE > 9 i

A K4 S1 S2 S3 S4 S5 S6 FENS &t

16| AHMS B EE 99.0 | 99.6 | 93.3 | 89.7 | 95.2 | 101.4 | 578.2

12| falEKAxF 1100.8| 97.5 | 96.3 | 98.5 | 99.3 | 96.1 | 588.5 [ 1756.1

17| e B 975 |1 979 | 97.4 |1 99.6 | 97.7 | 99.3 | 589.4

MNEKRFE > 10 {if

5 K4 S1 S2 S3 S4 Sb S6 | A | AEb

18| Wi # 98.1 | 98.2 1100.3[ 95.8 | 97.9 [ 95.5 | 585.8

14| %H {E=fR 93.3 | 96.1 | 93.0 [ 93.7 | 94.4 | 97.6 | 568.1 | 1747.7

18] M HEE 99.9 | 98.9 [ 98.9 | 100.6| 98.4 | 97.1 | 593.8

MIERE > 11  {if

T 2 St | S2 ] 3 [ s4 [ Ss | S6 [ fam | &t

29 ERJI=EfE 93.7 | 95.8 | 94.2 | 92.4 | 95.5 | 93.3 | 564.9

26| B FHfE 97.4 | 96.0 [ 98.0 [ 93.9 [ 93.3 [ 90.4 | 569.0 | 1713.7

33| A KA 949 | 93.7 [ 99.7 | 95.0 | 100.2| 96.3 | 579.8

RIEFEHERTE > 12 fr

T 2 St | S22 ] 3 [ sS4 [ Ss | S6 [ fam | &t

28| Hli Bk [101.83] 914 | 943 | 953 | 94.7 | 90.8 | 567.8

24| EHEHWHBRH 96.8 | 97.2 [ 94.6 | 92.9 | 98.8 [ 100.2 [ 580.5 | 1695.1

38| /MK T 89.9 | 875 ] 92.1 [ 90.3 | 93.5 [ 93.5 | 546.8

i kE > 13 f&

T 2 St [ S2 | 3 [ sS4 [ Sp | S6 [ fam | &at

16| b B 94.4 | 89.9 | 91.7 [ 92.9 | 93.3 | 88.0 | 650.2

30| il 1E 915 |1 90.1 [ 91.6 | 91.6 | 93.6 | 944 | 552.8 | 1685.9

37 AR 96.1 | 98.3 | 95.7 [ 97.0 | 96.4 [ 99.4 | 582.9

SHILERT > 14 fr

T 2 St [ S2 | 3 [ sS4 [ Sp | S6 [ fam | &at

35| Hif A 88.6 | 944 | 915 [ 94.0 | 93.4 | 97.2 | 559.1

31| w5 EmEs 84.7 | 92.2 | 93.6 | 99.2 | 87.8 | 91.1 | 548.6 | 1631.9

39| fEH K 825 | 90.6 | 885 | 91.9 | 795 | 91.2 | 524.2

HiEkE > 15 i

S5 K4 S1 S2 S3 S4 S5 S6 a5 &t

32| #JE FAH DNS

28| PR 94.9 | 95.8 | 97.3 1100.4| 94.3 | 92.7 | 575.4 | 1149.4

32| Sile  HIA 95.6 | 94.9 [ 928 | 96.2 | 99.6 | 94.9 | 574.0

RIAREFRFE > 16 fr

R K4 S1 S2 S3 S4 S5 S6 1505 it
30| whpEH #EHE | 965 | 92.6 | 959 | 945 | 965 | 97.5 | 573.5

27| RH kT DNS | 1144.3
29| JEH £ [ 943 ] 970 ]| 95.7 | 97.3 | 90.6 | 95.9 | 570.8
B2 RFE > 1A

R K4 S1 S2 S3 S4 S5 S6 15 1, &t
33| fHRHMNY DNS

29| BiEHOD 91.2 | 96.7 | 90.4 | 95.7 | 90.3 | 95.3 | 559.6 | 1102.6

ow»%/\ow»%/\ow»%/\ow>§/\ooo§/\ow>§/\owb>§/\owb>§/\ow>§/\

35| Mk MK 89.8 | 88.1 | 92.0 | 93.0 | 92.7 | 87.4 | 543.0
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